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QUESTION 1

You have been tasked with designing a solution for a company that wants to logically separate access to their Isilon
storage by department. Each of their major internal departments currently uses different Active Directory authentication
providers. In addition, they want to provide Isilon storage access to these departments while maintaining their
authentication separation.

Which feature will provide this functionality?

A. Access Zones

B. Network Segmentation

C. Multi-Homing

D. VLAN Trunking

Correct Answer: A

QUESTION 2

An Isilon customer created a SynclQ policy to replicate data from a primary cluster to an offsite secondary cluster. The
primary cluster becomes unavailable, and the customer has completed a failover onto the secondary cluster.

The primary cluster becomes available again, so the customer would like to fail back data to the primary cluster. The
failback process does not replicate data.

What is the most likely reason the failback policy does not replicate data to the primary cluster?
A. Clusters are not sharing an Infiniband switch

B. Secondary cluster has modified files on it

C. Original policy was for synchronization

D. Policy contains a SmartLock directory

Correct Answer: C

QUESTION 3

Three jobs of different exclusion sets with a priority level of 5 are concurrently running on a cluster. A new job with a
priority of 4 needs to be run. What does the Job Engine do?

A. Pauses a priority 5 job and runs the new job until completion, then restarts the paused job from the beginning
B. Pauses all priority 5 jobs and runs the new job until completion, then restarts the paused job
C. Queues the old job of the same exclusion set until the job with a higher priority completes

D. Runs the new job in parallel with the other running jobs
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Correct Answer: A

Reference: http://doc.isilon.com/onefs/7.1.1/help/en-us/GUID-C8094DAD-330E-4110-82A8-B97FEFB2D89A. .html

QUESTION 4

If Isilon SmartConnect is being configured in a customer environment, which records are required for a supported
implementation?

A. A SmartConnect Service IP host record and a zone delegation for the SmartConnect zone delegated to the SSIP

B. An overloaded host record with each SmartConnect zone member\\'s IP address and an SRV record to provide
resolution services

C. A SmartConnect Service IP host record and a corresponding PTR record for each SmartConnect zone
D. A SOA record for the SmartConnect Service IP and a corresponding CNAME record for each SmartConnect zone

Correct Answer: A

QUESTION 5

An Isilon customer is reporting less than expected performance from the cluster and poor space utilization. The
customer is using three X400 nodes with N+2:1 protection policy to host webserver log data. Upon further analysis, it is
discovered that the webservers write log files 64 KiB in size. The log files are then accessed by an analytics application
for reporting.

What should be done to increase write performance of the cluster?

A. Change the protection scheme to a mirroring policy.

B. Add A-Series performance accelerator nodes to the cluster.

C. Add S-Series storage nodes to the cluster.

D. Add SSDs to the X-Series nodes in the cluster.

Correct Answer: A
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